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You can use a calculator to help with this task!

You need to feed your family of four for 3 days!

Every meal needs 1 meat/egg, 1 carbohydrate and 1 vegetable.

Look carefully at the cost and how many people each purchase will serve.

Organic Beef (feeds 2 people) - £4

Chicken (feeds 4 people) - £2

Barn eggs (feeds 4 people) - £1

Free range beef (feeds 4 people) - £4

Organic chicken (feeds 4 people) - £5

Organic eggs (feeds 2 people) - £2

Free range chicken (feeds 2 people) - £2

Free range eggs (feeds 4 people) - £3

Beef (feeds 4 people) - £3

Rice (feeds 4 people) - £1

Pasta (feeds 8 people) - £3

Potatoes (feeds 8 people) - £1

Bread (feeds 2 people) - £1

Peas and sweetcorn (feeds 4 

people) - £3

Carrots (feeds 4 people) - £2

Broccoli (feeds 2 people) - £2

Key:Meat/eggs Carbohydrates Vegetables

Day one cost:

Total cost for the week: 

Day two cost: Day three cost:
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